March 20, 2014

10-4
Solving Quadratic Inequalities

Objectives:
1. | can solve a quadratic inequality.
2. | can graph the answer to a quadratic inequality.

3. | can state my answer in set and interval notation.

Replace the ? with <, >, or = to make the statement true.
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Write each inequality using interval notation then graph.
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Write each inequality using interval notation then graph.
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You try
Write each inequality using interval notation then graph.
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Write each interval using inequality notation involving x, then graph. %XlKXéﬁ%
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Solve the following using the algebraic method. “L o \,é
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Solve the following using the graphfa method.
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You Try
Solve algebraically then check your answer by graphing
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You Try
Solve algebraically then check your answer by graphing
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Solve algebralcally then check your answer by graphing You try
2x > 4x 1 ¢ /‘Hﬂ'ﬁ + - _)r Solve algebraically then check your answ/efr by gri 'ng4
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Solve algebraically then check your answer by graphing

¥ +3y+520

Solve algebraically then check your answer by graphing
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Solve algebraically then check your answer by graphing

x’+8x+16>0




